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Ex - 6.2

QL. In figure, (i) and (i), DE || BC. Find EC in (i) and AD in (ii).
: ’ A

Sol. (i) In figure, (i) DE || BC (Given)

= £ -2 (By Basic Proportionality Theorem)
15 1
= 3 7
{~-AD = 1.5cm, DB = 3 cm and AE = | cm}
3
= EC-= T =2cm

(ii) In fig. (ii) DEJBC (given)
‘AD AL AD 18

oo e

So. 50 = Tf 72 54
{~~-BD =72 AE = 1.8 cmand CE = 54 cm|)
AD =24 cm

Q2. E and F are points on the sides PQ and PR respectively of a APQR. For each of the following
cases, State whether EF || QR :

(1) PE=39cm EQ=3cm, PF=36cmand FR =24 cm.
(M) PE=4cm QE=45cm, PF=8cmand RF = 9cm.
(11)PQ = 1.28 cm, PR = 2.56 cm, PE = 0.18 cm and PF = 0.36 cm.

Sol. (i) In figure,
PE _39 43
EQ 3
PF_36 3 .. P
FR 24 2
PE _PF
= EQ FR F
= FFis not || QR R
(ii) In figure,
PE_¢ 8 g PF_ 8
EQ 45 9 FR 9
PE
= == = EF| QR
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(ii1) In figure,
PE__018 018 018
QF “PO-PE —128-018 ~ 110
18 9 PF D36

T 1107557 FR_PR-PF
__ 036 036 9 PE_pF
T256-036 220 55 QF ~ FR

. EFJOR  (By converse of Basic Proportionality Theorem)

Q3. In figure, if LM || CB and LN || CD. prove that %=%.
C
D

Sol. In AACB (see figure), LM || CB  (Given)
AM AL

st AD

MB LC
(Basic Proportionality Theorem)
In AACD (see figure), LN || CD(Given)
= AN AL -.(2)
ND LC
(Basic Proportionality Theorem)
From (1) and (2). we get

AM AN

MB ND
AM AN ‘AM AN

AM+MB AN<ND — AB  AD

=

Q4. In figure. DE || AC and DF || AE. Prove that %-%
A
C
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Sol. In AABE,
DF JAE (Given)
22= 2..() (Basic Proportionality Theorem)
In AABC,
DEJAC (Given)

BD BE

Sol. In figure, DE || OQ and DF || OR, then by Basic Proportionality Theorem,
PE PD

We have t0 Do (1)
PF _PD
and TR Do .(2)
PE. PF
From (1) and (2). 0 FR

Now, in APQR, we have proved that

et

= EQ FR

EF || QR
(By converse of Basic Proportionality Theorem)

Q6. In figure, A, B and C are points on OP. OQ and OR respectively such that AB || PQ and AC
| PR. Show that BC || QR.
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Sol. In APOQ,
ABJPQ (given)
OB 0A . o
80 =7p M (Basic Proportionality Theorem)
In APOR,
ACPR (given)
oA  oC . . S
2P - CR ...(11) (Basic Proportionality Theorem)
From (i) and (ii), we get

o8B _ oc
BQ ~ CR
. By converse of Basic Proportionality Theorem,

BCJaR

Q7. Using Theorem 6.1, prove that a line drawn through the mid-point of one side of a triangle parallel
to another side bisects the third side.

Sol. In AABC, D is mid point of AB (see figure)

iLe., —= A1)

Straight line ( || BC.
Line ( is drawn through D and it meets AC at E.

By Basic Proportionality Theorem

AD AE AE
DB iIC 2 fc " 1 [From (1))

= AE = EC = E is mud point of AC.

Q8. Using Theorem 6.2, prove that the line joining the mid-points of any two sides of a triangle
is parallel to the third side.

Sol. In AABC, D and E are mid points of the sides AB and AC respectively.
AD

—_—=1

= DB E

AE
andﬁzl(seeﬁgure) -
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- AD_AL DE| BC
DB EC

(By Converse of Basic Proportionality Theorem)

Q9. ABCD is a trapezium in which AB || DC and its diagonals intersect each other at the point O.
A0 CO

Show that EE=E

Sol. We draw EOF || AB(also || CD) (see figure)
In AACD, OE || CD

In AABD, OE || BA

DE _DO
= ta OB

AE 0B

E=ﬁ"-‘2’

From (1) and (2)
Ao _08
oC 0D’

. A0 _CO

ie, o5

" BO DO-

=

Q10. The diagonals of a quadrilateral ABCD intersect each other at the point O such that 2029

BO DO°
Show that ABCD is a trapezium.

AO CO
Sol. In figure B0 DO
‘A0 BO .
=5 oc 0D -..(1) (given)

Through O, we draw

[
OE || BA ~_
E
OE meets AD at E. ’ -\
From ADAB, B

EO || AB

= -E%=%% (by Basic Proportionality Theorem)

‘AE_ BO

0 oo P

From (1) and (2),
AD _AE

oc "o = OE || CD

=
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Now, we have BA || OE
and OE | CD
= AB | CD
= Quadrilateral ABCD is a trapezium.
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